
CS315-02 RISC-VStrings Twos Complement

Projecto2 - make up to 50% back

code quality-callingconventions
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Memory -> array of bytes

byte addressable

j -
MSB LSB

2

↓ ↓
6 E>intX= OXFFAA 1122 5
-

Y V

-

3

· I↑-2
-

-

O

#
T22

T F
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strings

Chur # S : "Foo" ; soG
arrays of bytes

WBsiId load double

Iv load word

16 load bute



Binary representation of integers

How to represent signal values
↳ two's complement
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How to get two's complement negative
representation from a positive value ?

3
-> -3

0011
-> 1100 + 1 = 1101 (-3)

invert(x) + 1
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1 0 -> 0010 + 1 = 0011 (3)

invert(x) + 1

Other interesting facts about
two's complement values
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